Dividing by a 2-digit nhumber (3)

Easier multiples with 2-digit remainders.

1) 6,875+ 25=275
2) 5,355+21 =255
3) 5,685+ 15 =379
4) 6,885+51 =135
5) 6,132 + 42 = 146
6) 8,897 + 31 =287
7) 8,272+ 22 =376
8) 1,190 + 35 =34

9) 9,963 + 41 = 243

10) 4,992 + 32 = 156
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25, 50, 75, 100, 125, 150, 175

21, 42,63, 84, 105

15, 30, 45, 60, 75, 90, 105, 120, 135
51, 102, 153, 204, 255, 306

42, 84, 126, 168, 210, 252

31, 62, 93, 124, 155, 186, 217, 248
22, 44,66, 88,110, 132, 154

35, 70, 105, 140

41, 82, 123, 164

32, 64, 96, 128, 160, 192

Fxit Maths



